INETR THTTENH %,

MITSUOKA

Mt S BB




21




SEIIIN—T

E5

EL




vAVEYN B i




Z2V—ATIN—7




yAVE VN B e i




EL-1

1
2
e LY i
NO. J—RES iR (18) (EH- BiAl) BE
1 11100 - ME1 000 t-3-ASSY 1 ¥160,000
2| 20100 - ME1 000 ¥ TBOXASSY 1 ¥91,000
3| 20110 - ME1 000 ¥ 3{7FCOMP 1 ¥1,800
4| 20211 - ME1 000 A =N A-8-7-2 1 ¥6,500
5| 41220 - MC1 000 Iy AT Fr9NCOMP 1 ¥1,000
6| 95001 - 12090 # JMM12x1.25 (L=90 ) 1 ¥180
7] 95001 - 12040 # JMM12x1.25 (L=40) 3 ¥150
8| 95001 - 08015 # JMM8x1.25 ( L=15) 2 ¥45
9| 96001 - 08125 1YMM8x1.25 2 ¥30
10| 95013 - 04010 ARAFEF IMM4x0.7 (L=10) 2 ¥80
11| 95111 - 04008 A7 UYT 99IE-M4 2 ¥20
12 11191 - ME1 000 o> 75x2.0 1 ¥500




NO. d—RES HB@ER (18) (IER- BiRl) &
1] 37210 - ME1 - 000 I/NI-7 (48V) 1 ¥110,000 [48V{t#E
2| 37220 - ME1 - 000 I/NI-7 (72V) 1 ¥155,000 |72Vt
3| 37110 - ME1 - 001 F1-5"4- (48V ) 1 ¥122,000 |48V ZEI— RAE (BRA )
3| 37110 - ME1 - SO1 F1-5"4- (48V ) 1 ¥94,000 |48V HEBI—RKAE (Z—/IKA)
4| 37120 - ME1 - 000 F1-5"4- (72V ) 1 ¥137,000 |72Vit#E ZEI—REE (BB >—JLK#A)
5| 37510 - ME1 - 000 MYF (48V-AMV) 1 ¥18,000 |48V
6| 37520 - ME1 - 000 MYF (T2V-HMY) 1 ¥18,000 |72VH#E
7| 37530 - ME1 - 000 1/595-27- 1 ¥500
8| 37410 - ME1 - 000 MYF (48V-BIFEHELDHR ) 1 ¥45,000 |48VH#E
9| 37420 - ME1 - 000 MYF (T2V-BIEHELDIR ) 1 ¥45,000 |72VHE
10| 37310 - ME1 - 000 k1-x° 1 ¥4,500
11| 37320 - ME1 - 000 k1-3° HAS° - 1 ¥4,500
12| 37140 - ME1 - 000 1-N 7 50 A7- 1 ¥700




NO. J—RES HB@ER (18) (IER- BiRl) f5E
13| 95001 - 06015 * JAM6x1.0 ( L=15 ) 8 ¥35
14| 96001 - 06100 FIAMB%1.0 8 ¥25
15| 95101 - 06020 7 L4Y7954-M6 ( 20 ) 8 ¥25
16| 95006 - 04005 FA' b AM4x0.7 ( L=5) 2 ¥20
17 | 95001 - 06015 # JAMBx1.0 ( L=15) 2 ¥35
18| 96001 - 06100 FIAMBx1.0 2 ¥25
19| 95101 - 06020 7" L4Y7954-M6 ( 20 ) 2 ¥25
20| 95009 - 05025 AL A (2 ) M5x0.8 ( L=25) 2 ¥40
21| 95101 - 05016 7 LAYt~ (B ) M5 (@16) 2 ¥20
22| 96001 - 05080 FIAM5%0.8 2 ¥20
23| 95006 - 03010 FA" £ AM3%0.5 ( L=10 ) 2 ¥20
24| 96001 - 03050 FIAM3x0.5 2 ¥20
25| 95009 - 06020 AL A (2 ) M6x10 ( L=20) 2 ¥50




NO. J—RES BB (18) (R Bl f5E
26| 95101 - 06020 7 LA/7Y78-M6 ( 20) 2 ¥25
27| 96001 - 06100 FIAM6x1.0 2 ¥25
28 | 95009 - 05020 RFAE A ( )M5x0.8(L=20) 2 ¥30
29| 95101 - 05016 7 LAY () M5 (16) 2 ¥20
30 | 96001 - 05080 FYAM5x0.8 2 ¥20
31| 95003 - 08010 AAF IM8x1.25(L=10) @) ¥80
32| 95111 - 08015 X770 7954-M8 @) ¥30
33| 95001 - 08015 # JM8x1.25 ( L=15) 3 ¥45
34| 96001 - 08125 FYM8x1.25 3 ¥30
35| 37130 - ME1 - 000 FEI-N 1 ¥1,300




EL-3

% 2

i
)

1
BE L X
NO. J—RES B A (1&) (2R BBl ) fwE
1] 39110 - ME1 - 000 NY5FU—(EV35) 1 ¥18,900 [{TKANYFU—
2| 39120 - ME1 - 000 NYFU—(RO—I+YEB50) 4 ¥22,000 |BIAANYFU— (48 VHE)
6 ¥22,000 [BABNYFU— (7 2VHE)
3| 39130 - ME1 - 000 Y= ANYFU— (A—YILEYF+—EPT70) 4 ¥28,000 [BIAANYFU— (48 VHHE)
6 ¥28,000 [BARANYFU— (7 2VHE)
4| 39151 - ME1 - 000 NYFU—T9v9 (EV35R) 2 ¥240
5| 39161 - ME1 - 001 NyFU—BEENVK(EV35H) 1 ¥1,500
6| 95051 - ME1 - 000 NyFY—kyF42FR)LN 8 ¥400 |(48V 11 ) B7 L —LEH ~ME1F-0003173&
12 ¥400 |(72V 4t ) B7 L —LEH ~ ME1F-0003173&
7| 39921 - ME1 - 000 NyFU—ty RTL—hK 4 ¥800 |(48V 11 ) B7 L —LEH ~ME1F-0003173&
6 ¥800 |(72V1H# ) B7 L —LEH ~ME1F-0003173&
8| 70111 - MC1 - 000 Ny FU—BERARY D 2 ¥200
9| 95006 - 03010 FAREAM3x0 .5 (L=10) 4 ¥20
10| 96001 - 03050 +YKRM3x0 .5 4 ¥20
11| 95101 - 03008 TLAYIYSH—M3 (D8 ) 4 ¥20
12| 96001 - 06100 +YRM6x1.0 8 ¥25 |(48V {145 ) A
FYRM6Bx1.0 12 ¥25 |(72V 14 ) B
13| 95051 - ME1 - 000 NYyFY—tyF42 RN 8 ¥400 |(48V {4 ) 7 L — LS H# MEIF-000318%' 5
NyFY—kyF142TRLN 10 ¥400 |(72V 44 ) A7 L — LS H# ME1F-000318%' S
14| 39921 - ME1 - 000 NyFU—ty hTL—hK 3 ¥800 |(48V {4 ) 7 L —LASH# MEIF-000318%' 5
NYFU—tYy RTL—h 4 ¥800 |(72V 14 ) A7 L —LASH# ME1F-000318%' 5
15| 39922 - ME1 - 000 NyFU—ty hTL—KB 1 ¥800 |(48V {4 ) A7 L — LS # MEIF-000318%' 5
NYyFU—ty NTL—KB 1 ¥800 |(72V 44 ) A7 L —ALS# ME1F-000318% 5




2 BAH
NO. J—RES EBRE R (18) (R BiAl) &%

1] 31211 - ME1 - 000 J—R(L=200,B) 2 ¥700 |[B(4 8 V)
5 ¥700 [B(7 2 VILER)

2| 31212 - ME1 - 000 J—RKR(L=600,1L) 1 ¥1,000 |&

3| 31213 - ME1 - 000 J—R(L=600,Y) 1 ¥1,000 [ (4 8 VL)

4| 31214 - ME1 - 000 J—RKR(L=600,B) 2 ¥1,000 [2(7 2 V)
1 ¥1,000 |2

5| 31215 - ME1 - 000 J—R(L=800,W) 1 ¥1,100 (A

6| 31216 - ME1 - 000 J—R(L=800,R) 1 ¥1,100 |7

7| 31217 - ME1 - 000 J—RKR(L=800,G) 1 ¥1,100 (#&

8| 31218 - ME1 - 000 J—R(L=800,B) 3 ¥1,100 |8

9| 39131 - ME1 - 000 F—ZF)ILAN—A 11 ¥340

10| 39132 - ME1 - 000 —XF+)ILAN—B 4 ¥240

11| 39133 - ME1 - 000 —ZFILAN-C 9 ¥380 [(4 8 Vi)




BE Bl
NO. J—RES BEABF (1&8) (ER- Bl BE
1] 81110 - MC1 - 000 AYRZALSNASSY 2 ¥4,200
2| 81112 - MC1 - 000 J—KRASSY 2 ¥800
3| 81113 - MC1 - 000 ANYRSALARNNILT (12V18W/ 18W) 2 ¥1,000
4| 81121 - MC1 - 000 AY RTALKNATF— 2 ¥800
5| 95006 - 05010 FAREAMS5x0 .8 (L=10) 4 ¥25
6| 81140 - MC1 - 000 ANY RSARNRTVT 6 ¥240
7| 95009 - 05040 RSAEA(E)M5x0 .8 (L=40) 6 ¥50
8| 95101 - 05016 TLAVIYIY— (EIYMS5 (p16) 6 ¥20
9| 96001 - 05080 Y hRM5%x0 .8 6 ¥20




e L.
NO. d—R&ES Em B (18) (=R BiR) BE
1] 60110 - MC1 - 000 7Y \—KF4 COMP 1 ¥98,000 [2,3,4,5,6,36,40,46,47C OM P & &
2| 60111 - MC1 - 000 7Y IN—RF 4 1 ¥62,000 (FRP® : BOIETHE (A72 3 HT—RkE)
[Kit] 7 ¥ N =57 1 1

3| 52111 - MC1 - 000 7O RI 42K 1 ¥20,000

4| 82111 - MC1 - 000 T4 RE-) 1 ¥1,500

5| 82121 - MC1 - 000 T4 RE=LATHAR 1 ¥1,100

6| 82125 - MC1 - 000 2L/ 1 ¥800

7| 82151 - MC1 - 000 VAZAS Ak S NV 1 ¥2,800

8| 95008 - 08030 HARILAMBx1 .25 (L=30) 2 ¥120

9| 95101 - 08026 TLAYIYST—(B)M8 (926) 2 ¥80

10| 95101 - 12022 TLAYIYIY—M12 (@22) 2 ¥30

11| 51111 - MC1 - 000 RFAIIIRT Y N—F/N\—A 2 ¥300

12| 51112 - MC1 - 000 RF AV ROTZN—A 2 ¥300

13| 51113 - MC1 - 000 AZ—17MM 2 ¥400




@0
—® —@

S

B
d—REF HEBN ) (ER- BiAl)
14| 95009 - 06020 RSAEA(E)M6x1.0(L=20) 3 ¥50
15 | 95101 06016 FLAYIYS T —(E)M6Bx (16 ) 6 ¥25
16 | 59111 MC1 - 000 HS5— (@7 .6 L7) 3 ¥120
17| 59112 - MC1 - 000 HS5— (@7 .6 L10) 2 ¥160
18 | 96001 06100 FYRMBx1 .0 3 ¥25
19| 82162 - MC1 - 000 SOXY KN (@4 2) 2 ¥150
20| 36120 - MC1 - 000 AU RTFYS v — JXIASSY 1 ¥800
21| 65110 - MC1 - 000 JA4NN—F—Z%—ASSY 1 ¥12,000
22| 65115 - MC1 - 000 DA N—F—B—AF— 1 ¥700
23| 95009 - 05020 RSAERA(E)M5x0.8(L=20) 3 ¥30
24| 95101 05016 TLAVIYVIY—(BIMS5 (@16) 2 ¥20
25| 96001 05080 +YRKM5x0 . 8 1 ¥20
26| 65120 - MC1 - 000 JAIN—F—LCOMP 1 ¥1,800




BE X
NO. J—RES EREH (18) (OEH- FAl) BmE

27 65130 - MC1 - 000 DA4N—7L—RASSY 1 ¥2,300

28| 68110 - MC1 - 000 YA RZIZ—R 1 ¥5,000

29| 68120 - MC1 - 000 HARIS—L 1 ¥5,000

30| 82142 - MC1 - 000 2SI RNIN— 2 ¥700

31| 95009 - 05020 RSAERA (E)M5%x0.8(L=20) 4 ¥30

32| 95101 - 05016 TLAYIDYT¥— (EB)YMS5 (p16) 4 ¥20

33| 59111 - MC1 - 000 HS5— (7 .6 LT7) 4 ¥120

34| 95101 - 05025 TLAYDYIv— (BYM5 (p25) 4 ¥25

35| 96051 - 05016 KFYNMNE)M5%x0 . 8 4 ¥30

36 - EEH (—H—255EX) 1 | Bl

37| 60140 - MC1 - 000 SARNIYT 2 ¥3,500 [FRPH : @NOIERME (A7>a>hT—5HE)
38| 95009 - 04020 RSAERA (E)M4x0 .7 (L=20) 4 ¥25

39| 95101 - 04012 TLAVIDYS+Y—(BEYM4A4 (©012) 4 ¥25




/14

NO. J—R&ES @A 18) (=R BiAl) wE
40| 96061 - 04115 Ry 7TF Y MM 4 4 ¥70
41| 95009 - 05020 RSAER(B)M5%x0 .8 (L=20) 2 ¥30
42| 95101 - 05016 FLAYTIYS T —(E)M5x (@16 ) 4 ¥20
43| 82141 - MC1 - 000 TYN—RFAH A RITY RS- 2 ¥600
44 | 96001 - 05080 +YRM5x0 . 8 2 ¥20
45| 82131 - MC1 - 000 70> NEAET A 1 ¥800
46| 79340 - ME1 - 000 J—>a>rSA)l (Ek) 1 ¥750
47| 79115 - ME1 - 000 EV48I—I 1 ¥240 |4 8 VHE
48| 79116 - ME1 - 000 EV72Y—I 1 ¥240 |7 2 VHE
49| 51111 - MC1 - 000 RFEAIIVRSN—AEY ~ 1 ¥800




O—®
% 3
E)—o
1
=4 B
NO. d—RES @B (18) (ER- BE) HE
1 36110 - MC1 - 000 T4 RIAYVII¥Y—ROIOASSY 1 ¥5,500
2 95001 - 06015 RILEM6 % 1 .0(L=15) 2 ¥35
3 96001 - 06100 FTYBMMG6%x1 .0 2 ¥25
4 36118 - MC1 - 000 3:1—7‘|7\]1§(p4(L=625) 1 ¥300 ZI—I*'?UWT‘%C(ZPCS)
5 61112 - ME1 - 000 A2ANAT—COMP 1 ¥10,000
6 95001 - 06015 RILEM6 % 1 .0(L=15) 2 ¥35
7 82146 - MC1 - 000 A2ANAT—IXI NI N— 2 ¥700
8 69111 - MC1 - 000 RFAHZ—9MM 4 ¥300
9 51111 - MC1 - 000 RFAIDINTYN—-F/N—A 5 ¥300
10 51112 - MC1 - 000 ATF4XDNOATZ/N—A 1 ¥300
11 51113 - MC1 - 000 HZ—17MM 1 ¥400




B

d—R&ES EB B R ) (JER- BiAl)
12 51100 - MC1 - 000 RFARDURNTN—AEY K ¥800
13| 95001 - 08025 KILKRM8x1 .25 (L=25) 4 ¥55
14| 95101 - 08022 TLAYIYS v — (B)MS (@22) 5 ¥40
15| 96001 - 08125 Y RM8x1 .25 5 ¥30
16 | 95001 - 08035 KILKM8x1 .25 (L=35) 1 ¥65
17| 95101 - 08017 TLAYIYS v — (BIMS (17) 1 ¥25
18| 61210 - MCT - 000 L—7%44KCOMP 1 ¥7,000
19| 95001 - 08025 KILKRM8x1 .25 (L=25) 4 ¥55
20| 95101 - 08017 TLAYIYS v — (BIMS (17) 4 ¥25
21| 95101 - 08022 TLAYIYS v — (B)MS (@22) 4 ¥40
22| 96051 - 08125 KFYR(B)MBx1.25 4 ¥80




O—
]
E)—o
1
e B
NO. J—RES @B (18) (ER- BE) HE
23 82143 - MC1 - 000 WN—=—THARID RS /NN— 2 ¥700
24 51111 - MC1 - 000 RFAIDIRNTYN—-F/N—A 4 ¥300
25 69111 - MC1 - 000 RFAHZ—9MM 4 ¥300
26 61114 - MC1 - 001 ATFTITS YT NAT— 1 ¥1,500
27 61910 - MC1 - 000 ZANAN—(LSV-20) 1 ¥1600 |[1&80EY N
28 71121 - MC1 - 000 AFFUGTI YT RTvda 1 ¥600
29 61501 - ME1 - 000 IL—7H4 RTL—KEL 1 ¥7,000
30 61502 - ME1 - 000 IL—7H4 RFL—BKMER 1 ¥7,000
31 82164 - ME1 - 000 JOXY hp20 2 ¥200




1
m
NO. J—RES EBEE R (18) (R Bl BE
1] 30110 - MC1 - 000 JoEX—Y3 AL YFASSY 1 ¥10,000 [/\J'— RSWZ T
2| 30112 - MC1 - 000 NF—RALYFASSY 1 ¥3,000 |/\H'— K SWE R liss
3| 95006 - 05015 FAREAMS5x0.8 ( L =15) 2 ¥30
4| 30120 - MC1 - 000 FvHELALCOMP 1 ¥600
5| 30125 - MC1 - 000 YI—TTIYIv— (¢235) 1 ¥100
6| 82144 - MC1 - 000 AYARNIIY RS N— 4 ¥200
7| 60131 - ME1 - 000 AVARNLAY NSRRI 1 ¥18,000
8| 95009 - 05020 RSAER (2 )M5x0.8 (L =20) 4 ¥30
9| 95101 - 05026 FLAYTYS v — (B )M5(916) 4 ¥20
10| 82171 - MC1 - 000 AYARIIHF—ZARNY YT A 3 ¥300
11| 82172 - MC1 - 000 AYARNIIHF—ANUYTB 1 ¥300
12| 82173 - MC1 - 000 AYARNIIHF—ZARNYYTC 1 ¥400
13| 82201 - MC1 - 000 AYVANRNULA 1 ¥300
14| 82202 - MC1 - 000 AYANKNULB 1 ¥300
15| 34111 - MC1 - 000 ALYFASSY . AF=vay 1 ¥3000 |12V Y I VALY F+E—DOHEY




HE EX
NO. J—RES BREH (18) (- BB Bz
16| 34250 - ME1 - 000 FIVIALYTF 1 ¥750
17| 34220 - MC1 - 000 TANR—AALYFIZY K 1 ¥3,500
18| 60132 - MC1 - 001 NF—RAA Y FHIN— 1 ¥700
19| 95011 - 03008 RYE VYIRS AE AM3 2 ¥30
20| 95009 - 05020 RSAER (2 )M5%0.8 ( L =20) 2 ¥30
21| 95101 - 05016 TLAYIDYSv— (B IM5(@16) 2 ¥20
22| 96001 - 05080 +v KM5x0.8 2 ¥20
23| 25310 - ME1 - 000 wLoR—IT 1 ¥1,000
24| 25100 - ME1 - 000 L% KNAA ¥ FCOMP 1 ¥5.400
25| 37750 - ME1 - 000 LED( 12V 7 5%KE) 1 ¥800
26| 37740 - ME1 - 000 LED ( XA 5 0 %KE ) 1 ¥800
27| 37730 - ME1 - 000 LED ( XA 7 5%KE ) 1 ¥800
28| 79111 - ME1 - 000 ELIRALYFI—) 1 ¥140
29| 79114 - ME1 - 001 BEELEI—) -2 1 ¥140
30| 79112 - ME1 - 000 Uty hI—) 1 ¥140




1
2 B
NO. d—RES EB B R (18) (=R BiE) BE
1] 28100 - MC1 - 000 AE—RX—B—FVHR)LLA—ASSY 1 ¥3,000
2| 28110 - MC1 - 000 AE—RX—R—FYHR)ILL—COMP 1 ¥1,400
3| 93011 - MC1 - 000 0l 418.8x1.9 1 ¥200
4| 28120 - MC1 - 000 AE—RX—B—FVYKU7>COMP 1 ¥1,400
5| 95901 - MC1 - 000 0—5—3x17.8 1 ¥100
6| 35910 - MC1 - 000 AE—RX—&—4—7)LCOMP 1 ¥2,200
7| 95001 - 06020 HKIKM6Ex1 .0 (L=20) 1 ¥40
8| 95001 - 06025 KIKM6Bx1 .0 (L=25) 1 ¥45
9| 35100 - ME1 - 000 OvERx—YarX—&— 1 ¥15,000
10| 72132 - ME1 - 000 AE—RX—8—7547 v KR 1 ¥760
11| 72131 - ME1 - 000 AE—RX—8—TFS7v K L 1 ¥760
12| 96001 - 06100 +Y RM6x1 .0 2 ¥25
13| 95009 - 05020 RSAER(E)M5%x0 .8 (L=20) 2 ¥30
14| 95101 - 05016 TLAYIYS v — (B)MS5 (16) 2 ¥25
15| 96001 - 05080 +Y KRM5x0 . 8 2 ¥20
16| 35122 - MC1 - 000 NLZ712V1 . 7W 3 N7 0HOEERVELTEY E A




7L—LBH

ME1F - 000273/ 5

1
BE i}
NO. J—RES EHBREH (1&) (ER- Bl i@

1| 60110 - ME1 000 EV7OFRFA 1 ¥150,000 |7 L —AS# ~ME1F-0003173&

FRPH : BOBRYE (A7>a>hZ—REE)
2| 60110 - ME1 100 EV7OTFRF4 1 ¥150,000 | 7 L —AS# ME1F-000318 ~

FRPH : BOETE (AT7>arvhc—kRE)
3| 60136 - ME1 000 AVRVBR—RY IR 1 ¥6,000 |[FRPH : BOIERYE (A 723 h5—5FIEE)
4| 60137 - ME1 000 AV BRI Z—HN— 1 ¥5,000 |FRP& : 2%
5| 77110 - MC1 000 T—KRILNEY S 1 ¥5,800
6| 82164 - ME1 000 JOXY R (@20) 1 ¥200
7| 82163 - MCH1 000 JOXY N (@26) 2 ¥200
8| 82162 - MCH1 000 SJOXY N (@42) 3 ¥150
9| 82161 - MC1 000 JOXY N (@60) 1 ¥700




ZL—LEBH

ME1F - 0002735

1
=
NO. J—RES B TR=E (18) fis

10| 60115 - ME1 - 000 RFAA40F—ov>ay 1

11| 82190 - MC1 - 000 ITRY—5— 2 ¥75 |L=1500mm
12| 37710 - ME1 - 000 LED (POWER) 1 ¥800

13| 37720 - ME1 - 000 LED(CHARGE) 1 ¥800

14| 79113 - ME1 - 000 NI—, Fr—I3—) 1 ¥140

15| 79200 - MCT - 000 BAEHES — 1 ¥300

16 | 82144 - MC1 - 000 AVARNITY RS N— 2 ¥200

17| 95001 - 08035 AILRM8x1.25(L=35) 3 ¥65

18| 95008 - 08035 KRN (E)M8x1 .25 (L=35) 4 ¥140

19| 95008 - 08030 KRN (BE)M8x1 .25 (L=30) 2 ¥120

20| 95101 - 08026 TLAYIYS T —M8 (p26) 11 ¥80

21| 51111 - MC1 - 000 RFAIIVRTYN—F—A 9 ¥300




JL—LBH

ME1F - 000273/ 5

1
BE B
NO. J—RES HBREM (18) (ER- BiAl) HE
22 | 51112 MC1 - 000 RFAIDTNOFTSN—A 7 ¥300
23| 51113 MC1 - 000 HAS—17MM 7 ¥400
24 | 69111 MC1 - 000 RFAHS—9MM 2 ¥300
25 | 95009 04015 RSAERA(B)M4x0 .7 (L=15) 3 ¥25
26 | 95101 04012 TLAYIYTY—M4 (@12) 3 ¥25
27 | 96061 04115 RYT+FY M4 3 ¥70
28| 95010 04014 AUYZRIM4x0 .7 (L=14) 3 ¥50
29 | 60221 ME1 - 000 N—F>9> T L—FHIN— 1 ¥8,500 | 7 L —AS# ME1F-000273 ~
30 | 95009 04015 RSAERA(B)M4x0 .7 (L=15) 7 ¥25 | 7 L —AS# ME1F-000273 ~
31| 96061 04115 RYTFY M4 7 ¥70 | 7 L —AS# ME1F-000273 ~
31| 95101 04012 TLAYIYS¥—M4 (@12) 7 ¥25 | 7 L — AS# ME1F-000273 ~




1
BE L-Rfii}
NO. d—RES & (18) (5% BAl) HE

11 74110 - MC1 000 ~—KCOMP 1 [BRZERT

2| 74200 - MCf1 000 S—KNTZr¥AR—tY N (1) ¥5,000 [@@0OtEY ~
3| 74210 - MCf1 000 P—=KT7TP¥AR—R 1 ¥3,000

4| 74220 - MC1 000 P—=KT7T¥AR—L 1 ¥3,500

5| 95001 - 08015 R MM B8x1.25( L =15) 4 ¥45

6| 95101 - 08017 TLAVIDY I v—(2)M8 (@17) 4 ¥25

7| 96001 - 08125 F+v kM 8x1.25 4 ¥30

8| 95101 - 08022 LAY v—(2)M8 (@22) 4 ¥40




Bl iy
NO. J—R&ES EnE=R HURABTOER (FY bH—) (1&8) (EB- BiA) BE
1| 81410 - MC1 000 FON-ZVTASSY FON=-Z2T 1 ¥3,000
2| 96001 - 06100 FTYyhMEx1 .0 M6T7Z>2F Y~ 2 ¥25
3| 81414 - MC1 000 FION=ZTNLT 12V1I0W 1 (B
4| 81510 - MC1 000 NYOSVTASSY Ny oS>7 1 ¥2,500
5] 81513 - MC1 000 NYOZUTNILT 12V . 4W 1 | R




L. i

J—RES HmEH ) (xR BiEl) i&E
1| 55100 - MC1 000 ATTUIFVYBOX ASSY 1 ¥24,000
2| 55121 - MC1 000 Zvo7T=Y 2 ¥800
3| 55131 - MC1 000 EZA>HhN— 1 ¥300
4| 97401 - 00172 DAYV TOVYT(TIV=NYREALT) 4 ¥50
5| 55411 - MC1 000 ATTUVIZ v TN 1 ¥5,000
6| 95012 - 06030 RILINM6Ex1.0 (L=30) (&%) 2 ¥50
7| 96001 - 06100 +v KM6x1.0 2 ¥25
8| 55413 - MC1 000 Ay 9342 KNASSY 1 ¥3,800
9| 55510 - MC1 0 Z40Y RR—ACOMP 1 ¥2,400

10| 55520 - MC1 000 Z240Y RASSY 2 ¥6,000
11| 55531 - MC1 000 ZAOY RR=ARTAE— 1 ¥400




L. i

NO. d1—REF EHamE W (18) (R Bl BE
12| 71111 - MC1 000 257> JKA—)LSUB ASSY 1 ¥10,000
13| 71112 - MC1 000 K= Ny K 1 ¥1,300
14| 96001 - 12125 +v RM12x1.25 1 ¥50
15| 95001 - 08055 )L NM8x1.25 ( L=55 ) 2 ¥85
16| 95001 - 10015 KL RM10x1.25 ( L=15) 2 ¥60
17| 95101 - 10021 TLAYTYSYMI0 (@21) 4 ¥25
18| 96001 - 08125 +v RM8x1.25 2 ¥30
19| 96001 - 10125 +v KM10x1.25 4 ¥35
20| 55413 - MCT 000 Xy HTaL2RN 1 ¥600 |BRESHK T. SHEOR V97 HIMASSYDZDIRSE B £,
21| 55415 - ME1 000 HZ7—@13.8(L=7.5) 4 ¥120 |BRFE& T . S%IEO®R V7 MIPASSYD K DERFEE XV E T,
22| 95101 - 08017 FLAYIYS*—M8 (@17) 2 ¥25




i

F-10

& O LR E RS,
(@) @ ] : (OFROZ VB O EL/REEH

B L i]

NO. J—R&ES BB (18) (=R BB BE
1{ 40100 - ME1 000 AV MYAF—-ALR ASSY 1 ¥15,000
2| 40200 - ME1 000 AV MY AFT—-ALL ASSY 1 ¥15,000
3| 40110 - ME1 000 70 MY AT—AR 1 ¥10,000
41 40121 - MC1 000 FIOEDHNT— 2 ¥400
5| 40221 - MC1 000 SN—=TvZaA 4 ¥700
6| 95502 - MC1 000 R—JILBRG . (6301LU/2A) 4 ¥1,200
7| 40210 - ME1 000 ZO0YRMHAT—AL 1 ¥10,000
8 95001 - 10070 RJL hM10x1.25 ( L=70) 4 ¥130
9| 96001 - 10125 7Y MM10x1.25 4 ¥35

10| 40310 - MC1 00 70> K~FY )R COMP 1 ¥4,500
11| 40410 - MC1 00 70> k~Fvy )L COMP 1 ¥4,500
12| 95001 - 12080 RIL hM12x1.25 (L=80) 2 ¥180
13 95101 - 12022 TLAYTY2 ¥ —M12 (@22) 4 ¥30
14| 96001 - 12125 + v bM12x1.25 2 ¥50




/3

Fl—LB@

WE1F-D002TAH

hril-]

{IRELMERT.

|
@ { RO O ELRRE

=
NO. d—R&ES EmA (18) (ER- BiBl) ®BE
1| 39910 - ME1 000 Ny TYU—RY AR COMP(72V4L#R) 1 ¥4,500 |7L-A5# ME1F-0003173&
2| 39920 - ME1 000 INY T —RY AR COMP(48V1L#k) 1 ¥4,500 |7L-A5H# ME1F-0003173&
3| 39920 - ME1 000 INYTU—RY AL COMP(72VEER) 1 ¥4,500
41 39910 - ME1 000 INYTU—RY AL COMP(48V1tER) 1 ¥4,500
5| 39910 - ME1 001 Ny TYU—RY AR COMP(48,72ViiE( 1 ¥4,500 |7L-A5# ME1F-000318 ~
6| 41110 - ME1 000 DYHARYS 3> F—LCOMP 1 ¥14,000
7| 42111 - ME1 001 RZA472¥ 78R 1 ¥7,000
8| 42112 - ME1 001 RZA4TvTN L 1 ¥7,000
9| 42210 - ME1 000 K=V J R 1 ¥10,000
10| 42310 - ME1 000 r—=>2T L 1 ¥10,000
11| 50100 - ME1 000 7L —A4 COMP 1 ¥58,000 |7L-A5#¢ ~ME1F-000272i&
11| 50100 - ME1 100 7L —L4L COMP 1 ¥58,000 |7L-A5#¢ ME1F-000273 ~
12| 93004 - MC1 000 FAN—)L20%x35%8 2 ¥500




/3

| MEVF-000ZTIR N

Fl—nBm

NO. d—RES iER=E (1&) (E®- BR) BE
13| 41200 - MC1 - 000 YUY HAIDVRNSN—=TZTYRNASS 2 ¥2,800
14| 40221 - MC1 - 000 FN—=TvZaA 2 ¥700
15| 96001 - 10125 FTYBRM10x1 .25 4 ¥35
16| 40231 - MC1 - 000 ZN—=T7v<1B 2 ¥700
171 41212 - MC1 - 000 YUY HRASN—=X D> N7 S5 Y NCOMP 2 ¥1,000
18 | 96001 - 08125 FTYRM8x1 .25 4 ¥30
19| 41231 - MC1 - 000 PYH ARSIV TSTY N 2 ¥600
20| 95001 - 08015 ARIKM8x1 .25 (L=15) 2 ¥45
21| 95001 - 08035 ARIKM8x1 .25 (L=35) 2 ¥65
22| 51122 - MC1 - 000 RF4XIMATZ/N—B 2 ¥300
23| 51121 - MC1 - 000 RFAIITVRNTYN—F/N—B 2 ¥300
24| 51113 - MC1 - 000 HZ—17MM 2 ¥400




/3

F—LgA
WETF-000ITIM N

BWE B {f
NO. d—RES AR (18) (ER- B BE
25| 95101 - 12022 TLAYTIYS¥—M12 (@22) 2 ¥30
26| 95101 - 08026 TLAVIYIY—(EIM8 (p26) 2 ¥80
27| 96001 - 08125 +YRM8x1 .25 4 ¥30
28| 95001 - 10070 AILRM10x1.25(L=70) 4 ¥130
29| 82191 - MC1 - 000 I7h¥—5—20MM 4 ¥10
30| 97401 - 00045 DALY USTIVY T (TU—=NY REALT) 26 ¥50
31| 51110 - MC1 - 000 RFE4IIVRNSN—BEY b 2 ¥800
32| 95001 - 08020 AILKM8x1 .25 (L=20) 8 ¥50
33| 95001 - 08015 AILKM8x1 .25 (L=15) 8 ¥45
34| 95001 - 08015 AILKM8x1 .25 (L=15) 4 ¥45
35| 96001 - 08125 +YRM8x1 .25 4 ¥30
36| 95101 - 08026 FLAYIYSY— (E)M8 (026 ) 4 ¥80




F-12

2 B
NO. d—RES @A (1&) (EH- BB ) 1EE
1] 31110 - ME1 000 702 MN\—%RA 1 ¥12,000
2| 31120 - ME1 000 DY N—%RA 1 ¥15,500
3| 31130 - ME1 000 AL MN-FRAA 1 ¥3,200
4| 31140 - ME1 000 ZaA>MNN\—%AB 1 ¥500
5| 33471 - MC1 000 24 2HA—1)L—COMP 1 ¥3,000
6| 33481 - MC1 000 AY RZ>7 1L —COMP 2 ¥1,700
7| 33491 - MC1 000 7R—>COMP 1 ¥2,200




/2

=
NO. J—RES HmEH (18) OXR- B iBE
1| 34240 - MC1 000 ARYTRALYF 1 ¥1,300
2| 43400 - MC1 000 RAZ—2 VA —ASSY 1 ¥15,000
3| 43410 - MC1 000 RAZR=2 U IHE—EARNYFY N 1 ¥5,000
4| 43420 - MC1 000 RAR— U H—F+¥YTASSY 1 ¥2,000
5| 43430 - MC1 000 70—-hCOMP 1 ¥700
6| 95001 - 08025 RILhM8x1.25 (L=25) 2 ¥55
7| 96001 - 08125 7 v hM8x1.25 2 ¥30
8| 73110 - ME1 000 RAJ)RX—ZACOMP 1 ¥5,900
9| 73210 - ME1 000 7Ot JLCOMP 1 ¥2,500
10| 73231 - MC1 000 TORILRIINIEZ—2SPG 1 ¥400
1] 25114 - MC1 000 17 —44MM 1 ¥150
12| 95001 - 10060 7RIV kM10%x1.25 ( L=60 ) 1 ¥120
13| 96001 - 10125 7 v kM10x1.25 2 ¥35
14 | 95001 - 06025 RILKM6x1.0  ( L=25) 1 ¥45
15| 95001 - 06020 RILRM6x1.0  ( L=20) 1 ¥40
16| 96001 - 06100 7 v ~kM6x1.0 2 ¥25
17| 73310 - MC1 000 TL—%RAJ)COMP 1 ¥2,000




(GBI
5

g
\

N

)

—0@

=1 B {f
NO. J—RES HBREMN (18) (R Bl BE
18| 73314 - MCH1 000 51> —101.5MM 1 ¥600
19| 73321 - MC1 000 TL—FRAILUA—VSPG 1 ¥500
20| 73335 - MCH1 000 TL—FRANAN— 1 ¥500
21| 95001 - 10120 A MM10x1.25 (L=2 0 ) ¥180
22| 97081 - 08017 JLEREY 1 ¥100
23| 97051 - 08000 2FYTEY 1 ¥50
24| 37610 - ME1 000 TotEL—%— 1 ¥28,600
25| 73220 - ME1 000 75+ I)L/N\—COMP 1 ¥700
26| 97041 - 16016 ATUYREYP1.6%x16 2 ¥50
27| 95101 - 05016 TLAYIYSIv—(B)M5 (p16) 4 ¥20
28| 25213 - MCH1 000 HI—TOVSr—(@14) 2 ¥180
29| 95009 - 05015 RSAER(E)M5%x0 .8 (L=15) 2 ¥25
30| 96001 - 05080 +YRNM5x%0 . 8 2 ¥20
31| 95001 - 06020 AILKM6x1.0(L=20) 4 ¥40
32| 95101 - 06020 TLAY IV ¥ —MB6 (20 ) 4 ¥25
33| 96001 - 06100 FYRM6x1 .0 2 ¥25




F-14

BE Bf
NO. J—R&ES BB R (1&8) (5% BiRl) BE
1] 54250 - ME1 - 000 7R RIFL—F/N{7R COMP 1 ¥1,200
2| 54260 - MC1 - 000 JOYR7L—%/N47L COMP 1 ¥1,400
3| 54310 - MC1 - 000 D¥FL—%/N{7A COMP 1 ¥1,800
4| 54320 - MCT - 000 D¥FL—%/N\{7B COMP 1 ¥1,500
5| 54350 - MC1 - 000 D¥FL—%/N\{7R COMP 1 ¥1,500
6| 54360 - MC1 - 000 D¥FL—%/N47L COMP 1 ¥1,500
7| 97402 - 04800 DAYIITINYT (TL—%NAT) 2 ¥100
8| 54410 - MC1 - 000 7L —%K—2R (470MM) 2 ¥2,600
9| 97404 - 01001 TL—FK—RRF— 2 ¥100
10| 95009 - 05020 RSAER (8 )M5%0.8 (L=20) 2 ¥30
11| 96001 - 05080 +v hM5x0.8 2 ¥20
12| 95101 - 05016 TLAYIYS Y (B)M5  (@16) 2 ¥20
13| 54420 - MC1 - 000 TL—%H—2Z (380MM ) 1 ¥1,900
14| 54421 - MC1 - 000 TL—FK—RIUY 7 2 ¥240
15| 54510 - MC1 - 000 N A7 FPIEYT -0 7 OE -53th 1 ¥5,000
16| 95001 - 06040 KL RMBx1.0 ( L=40 ) 2 ¥60
17| 54910 - MC1 - 000 39IATY34YRNCOMP 1 ¥1,200
18| 95001 - 06030 KL RMBx1.0 ( L=30 ) 1 ¥50
19| 95101 - 06020 TLAYTYT¥M6 (20) 1 ¥25




F-15

7 b— A= METF-000273 05

@

1
B Bf
J—RES HREH (18) (2R BAl) BE

1] 43620 - ME1 - 000 N—F>T7TL—FAF—ASSY 1 ¥2,100 [7L-45# ME1F-000273~ 7L —AIZCOMP
2| 43610 - MC1 - 000 N—*>9JL/N—COMP 1 ¥4,500

3| 43611 - MC1 - 000 N=F2ILN=TUv T 1 ¥500

4| 43600 - MC1 - 000 N—*>YJLN—ASSY 1 ¥5,000

5| 43910 - MC1 - 000 N=F>TITL—FTDL4¥—COMP 1 ¥6,000

6| 43911 - MC1 - 000 L AE> @6x18 1 ¥400

7| 97041 - 16016 A7UY NE>@1.6%16 1 ¥50

8| 96051 - 08125 KFYLIM8x1 .25 2 ¥80 |7L-AEH# ME1F-000272i&

9| 95101 - 08017 TLAYIYI Y (B)MB (17) 2 ¥25 [7L-L5H# ME1F-000272i&

10| 96001 - 08125 FYhM8x1.25 2 ¥30 |7L-A5# ME1F-000273 ~




F-16

(® @ 121&<)

1
B B
NO. J—RES HmEH (18) OXER- B iBE
1| 43100 - ME1 000 70YKR7L—*%ASSY 2 ¥11,000 |R/LIEE ( AT EE )
2| 43110 - MC1 000 708Ny 97L—KCOMP 2 ¥1,200
3| 43120 - ME1 000 A=V H—-ASSY 2 ¥4,500
4| 43130 - MC1 000 70 K7L—%221—COMPHEY K~ 2 ¥4,600 2t Y b
5| 43140 - MC1 000 7L—*#SPG. Yk 2 ¥600
6| 43150 - MC1 000 TO¥YAR—ASSY 2 ¥3,000
7| 43163 - MC1 000 TIOYAR—F ¥V 2 ¥300
8| 43161 - MC1 000 Za1—3KR—J)LRE> 4 ¥200
9| 43162 - MC1 000 21—SPG 4 ¥300
10| 43511 - MC1 000 7OYKR7L—F RS A 2 ¥8,000
11| 43512 - MC1 000 7O0YKN7L—F RSLNT— 2 ¥400
12| 95501 - MC1 000 R—ILBRG . (6203LU) 4 ¥1,250
13| 95001 - 08015 RIL MM8x1.25 (L=15) 8 ¥45
14| 96001 - 08125 7 v hM8x1.25 8 ¥30
15| 96001 - 14150 7 v kM14x1.5 2 ¥70
16| 95101 - 14024 TLAVDIY T v —M14(p24) 2 ¥40
17| 43510 - MC1 000 ZO0YK7L—*KRZLCOMP 2 ¥10,000




F-17

(®)
(@ ®1E8<)

ORELAZETRT,
OFROENHD(FL/RELIE

=
NO. J—RES HmEH (18) OXER- B iBE

1| 43200 - ME1 000 J¥7L—%R ASSY 1 ¥12,000

2| 43120 - ME1 000 RA—LZVH—ASSY 2 ¥4,500 |L/RE
3| 43150 - MC1 000 TIOrYAZ—ASSY 2 ¥3,000 |L/R&®E
4| 43163 - MC1 000 TIOYAE—F vV 2 ¥300 [LIRHEE
5| 43161 - MC1 000 Za1—R—=)LRE> 4 ¥200 |L/RE
6| 43162 - MC1 000 21—SPG 4 ¥300 [LIRHEE
7| 43210 - MC1 000 DY¥7L—*%R NYU7L—KCOMP 1 ¥1,200

8| 43230 - MC1 000 U¥7L—%>1—R COMP+tY K 1 ¥6,000

9| 43240 - MC1 000 7L—*#SPG. Yk 2 ¥700 |L/R$E
10| 43300 - ME1 000 U¥7L—%L ASSY 1 ¥12,000
11| 43310 - MC1 000 DY7L—% NvO7F7L—KCOMP 1 ¥1,200
12| 43330 - MC1 000 U¥7L—%>1—L COMP+tYHh 1 ¥6,000
13| 43521 - MC1 000 DY TL—FRZ LA 2 ¥8,000 |L/R#®E
14| 95001 - 08015 RIL hM8x1.25(L=15) 6 ¥45
15| 96001 - 08125 7 v ~hM8x1.25 6 ¥30
16 | 96001 - 14150 F ¥ hM14x1.5 2 ¥70




24 EFi]
NO. d—RES EHREH (1&) (xR BBl ) ket
1] 56100 - ME1 - 000 7O0K9923a>ASSY 2 ¥10,500
2| 56200 - ME1 - 000 J¥ovarASSY 2 ¥11,000
3| 95001 - 10040 RIL RM10x1.25 ( L=40 ) 8 ¥100
4| 96001 - 10125 F v RM10x1.25 8 ¥35
5| 97403 - 13000 DAVIITIvT (TL—FK—R) 2 ¥80




F-19

—@.@
1
e B
J—RES EBER B R (18) (xR Bial) BE
1] 80120 - ME1 - 000 RAV- AA—)LEYN(4.00-8 55JKIAN) 4 ¥9,800
2| 80130 - ME1 - 000 BAY- KA—)EYR(4.00-8 55J75v%) 4 ¥9,800
3| 80111 - ME1 - 000 R4 (4.00-8 554J) 4 ¥6,500
4| 80112 - ME1 - 000 Fai—7 4 ¥1,500
5| 80210 - MC1 - 100 KL=ty N (KITAN) 4 ¥5,800
6| 80220 - MC1 - 100 KL=ty N (TS5v9) 4 ¥5,800
7| 95001 - 08020 KILKM8x1 .25 (L=20) 16 ¥50




£ BAH
NO. J—RES B (18) (ER- Binl) ik
1] 81220 - MC1 - 000 Y7593 v—527ASSY 2 ¥3,400
2| 81221 - MC1 - 000 Y759y v—LUX 2 ¥800
3| 81222 - MC1 - 000 Y759y v—KRF4COMP 2 ¥2100 (VY 72v> v YTy RhED
4| 81224 - MC1 - 000 L>AXZN— 4 ¥150
5| 95006 - 03025 FAREAM3x0.5 (L=25) 8 ¥30
6| 95007 - 06020 MEX (1Z90)M6x1.0 (L=20) 4 ¥30
7| 81215 - MC1 - 000 729w —=NN)L7 (12V20W ) 2 ¥300
8| 81310 - MC1 - 000 JL—*%37ASSY 2 ¥3,900
9| 81311 - MC1 - 000 TL—*%Z27LVX 2 ¥800
10| 81312 - MC1 - 000 JL—*%Z27RF4—COMP 2 ¥2200 |7L—*Z27VYT Y NET
11| 81313 - MC1 - 000 TL—=FZ27NILT (12V18/5W ) 2 ¥300
12| 81621 - MC1 - 000 DY) 7Lo8— 2 ¥900
13| 96001 - 06100 F v hM6x1.0 4 ¥25




=1 B {f
NO. d1—REF BRBEN (18) (R Bl BE
1] 81211 - MC1 - 000 JOYRJS5YS ¥ Lo 2 ¥700
2| 81212 - MC1 000 JOYKT7SvvVYTv N 2 ¥800 |[h75—8L
3| 81213 - MC1 - 000 JOYRTSYS¥S5/N— 2 ¥400
4| 81214 - MC1 - 000 JOYRTISYS v UL 2 ¥180
5| 81215 - MC1 - 000 75y v NLT 2 ¥300
6| 81216 - MC1 - 000 JOYRTISYSHYTY RFr YT 2 ¥600
7| 95006 - 03010 FAREAM3%05 (L=10) 2 ¥20
8| 95101 - 03008 TLAYIYSEM3  (p8) 2 ¥20
9| 95006 - 03025 FAREAM3%05 (L=25) 4 ¥30
10| 96001 - 03050 +v RM3x0.5 6 ¥20
11| 81610 - MC1 - 000 JOYRUZLYR— 2 ¥900
12| 81210 - MC1 - 000 7JOYR7593%YSYRASSY 2 ¥1,400




=1 B {f
NO. d1—REF HBRBEN (18) (R Bl BE

1] 60130 - ME1 - 000 DY X>TF o ANY F 1 ¥12,000 [FRPE : BOERSE (A /23 AT—RE2)
2| 60132 - ME1 - 000 DYXYFFYANYFEDD 2 ¥2.800

3| 60138 - ME1 - 000 AV FNYFIYSaUA 1 ¥680

4| 60139 - ME1 - 000 U AYFNYFHYSavB 1 ¥1,140

5| 60133 - ME1 - 000 Fr—IJUv R 1 ¥8,040

6| 95014 - 06025 IUFEIMEx1.0(L=15) 2 ¥200 [Z//TYRI (8)

7| 95007 - 04025 MEAM4%x0 .7 (L=25 6) 3 ¥40

8| 96001 - 04070 FYRM4x0 . 7 3 ¥20

9| 96061 - 06150 Ry 7+YRM6 2 ¥80

10| 95007 - 05015 MEA(E)M5%x0 .8 (L=15) 8 ¥35

11| 96001 - 05080 +YRM5%x0 . 8 8 ¥20

12| 95101 - 05016 TLAYIYS+—M5 (2) (p16) 8 ¥20




F-23

1 /2

7L — L8 MEIF-000318~

1
NE B
NO. JI—RES BRAM (18) (ER- #A) fmE
1| 60120 - ME1 000 NYTFV=AVTFANY F 1 ¥15000 [FRPHE : 60ERMYE (A7>ahT—5EE)
IL-LE#  ~ME1F-0003173&
2| 60120 - ME1 001 NYTFV=AFFANYF 1 ¥15,000 |[FRPH : BOERMKE (F723a>HT7—5EE)
IL-LEH# ME1F-000318 ~
3| 60121 - ME1 000 NYTFV=AFNYFEDD 2 ¥3,000
4| 60122 - ME1 000 NYFV—AFNYFT7RAF— 2 ¥2,700
5| 60125 - ME1 000 NYFU—=N\YFovSavA 2 ¥500
6| 60126 - ME1 000 NYFU—N\YFHvSarB 2 ¥700
7| 60128 - ME1 000 E>ANO—97L—h 2 ¥800
8| 95009 - 05015 RSAEA(E)M5 (L=15) 6 ¥25




F-23

JL—-LBHE

ME1F-000317:&

7l — LS8 MEIF-000318~

NO. J—RES EBER B (18) (AR BiEl) 5%
9] 95101 - 05016 FLA> IV T—M5 (B) (@16) 6 ¥20
10| 96002 - 05080 FYRM5x0 . 8 (EL—Taftx) 6 ¥35
11| 95007 - 04012 MEAM4x0 .7 (£) (L=12) 8 ¥30
12| 96001 - 04070 FYRM4x0 .7 12 ¥20
13| 96051 - 04070 KFIYRN(BE)M4x0 . 7 4 ¥25
14 | 95006 - 04020 FREAM4x0 .7 (L=20) 8 ¥35
15| 60129 - ME1 - 002 TFAF—ARF— 1 ¥1,200 |7L-45# ME1F-000318 ~
16| 95009 - 04020 RSAER(E)M4 (L=20) 4 ¥25 [7L-AS# ME1F-000318 ~
17 | 96001 - 04070 +YRM4x0 . 7 4 ¥20 [7L-ASH# ME1F-000318 ~




F-24

e B {f
NO. d1—REF BRBEN (18) (R Bl BE

1] 60141 - ME1 - 000 RFAH A RAT—A 2 ¥550

2| 60142 - ME1 - 000 RFA4H 4 RAF—B 1 ¥550

3| 60143 - ME1 - 000 RF 444 RAF—C 1 ¥550 |7L-AE#  ~ME1F-0003173
4| 60143 - ME1 - 001 RFAH A4 RAF—C 1 ¥550 |7L-LS# ME1F-000318 ~
5| 60144 - ME1 - 000 RFAH A4 RAF—D 1 ¥550

6| 95009 - 06020 RSAEZA(E)M6x1.0(L=20) 7 ¥50

7| 95101 - 06016 FLAYTIYIS T —M6 (E) (@16) 7 ¥25

8| 96001 - 06100 FYRM6x1 .0 7 ¥o5

9| 95009 - 05020 RSAER(E)M5%x0 .8 (L=20) 2 ¥30

10| 95101 - 05016 TLAYIYS+—M5 (B) (p16) 2 ¥20

11| 96001 - 05080 +YKRM5%0 . 8 2 ¥20






